
9283 - Hurricane Mulch System 48" Velocity Plus Decks
9284 - Hurricane Mulch System 52" Velocity Plus Decks
9285 - Hurricane Mulch System 61" Velocity Plus Decks

January, 2006

THIS MANUAL CONTAINS THE ILLUSTRATED PARTS LIST FOR:

PART NUMBER 06144

Hurricane Plus Mulch System
ILLUSTRATED PARTS LIST



Underside View of 48V, 52V & 61V Cutter Decks

Ref. No. Description   48V - #9283    52V - #9284    61V - #9285

 482960
 423980
04021-22
04040-15
04001-09
 451792
424245
424243
424242
 424241
04021-09
04041-07
424244
04003-23
04001-176
04030-03
04001-177

 482961
 423979
04021-22
04040-15
04001-09
 451793
424250
424248
424247
 424246
04021-09
04041-07
424249
04003-23
04001-176
04030-03
04001-177

482963
423981
04021-22
04040-15
04001-09
 451794
424255
424253
424252
 424251
04021-09
04041-07
424254
04003-23
04001-176
04030-03
04001-177

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

Eliminator Mulch Blades
Hurricane Plate, 48
Elastic Stop Nut 5/16-18
Flatwasher 5/16”
H.H. Bolt 5/16-18 x 1”
Mulch Plate
R.H. Baffle, Mulch Divider
R.H. Mulch Baffle
Center Mulch Baffle
L.H. Mulch Baffle
Elastic Stop Nut 3/8-16
Flatwasher 3/8”
L.H. Baffle, Mulch Divider
Carriage Bolt 3/8-16 x 1”
H.H. Bolt 5/16-18 x 1-3/4”
Lockwasher 5/16”
H.H. Bolt 5/16-18 x 2”

1

3, 15 & 16 (x 5)

6

7

8
9

10

13

14

11

12

5

4

3

14

14

2

3, 16 & 17




